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CHILD DEVELOPMENT AND TEACHING METHOD
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1. Where is Bureau of Psychology, Uttar
Pradesh situated?

(1) Lucknow (2). Allahabad
(3) Agra (4) Varanasi
2. The relation which Skinner has with rats

and Thorndike has with cats, same
relation Kohler has with

(1) dogs (2) hens

(3) monkeys (4) impanzees
3. Learning plateau is®
~ (1) arrested growth ~ rning

(2) defect in leagningy
(3) cessation lé-ning
_ (4) obstru earning

4. The writer o book, The Behaviour of
Organisms ®
( :

(2) Hull
—{ horndike

ant for the
students?

)
) T e
) atic ﬁ’ right behaviour
p - the “Goal gradient’
concept in problem solving?
(1) Hull (2) Kendler
(3) Kohler (4) Brich
7. Who is not associated with the idea of
micro-teaching from the following?
(1) Bush
(2) David Hume
(3) D. W. Allen
(4) Achison
8. Which of the following is not the level of
teaching-learning?
(1) Understanding level
(2) Reflective level
(3) Memory level
(4) Distance level
9. Which of the following is not democratic
strategy in classroom teaching?
(1) Lecture (2) Project
(3) Heuristic (4) Brainstorming
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10. Which of the

11,

following is not a
characteristic of inclusive education?

(1) It enhances learning only
students with special needs

(2) It is the shift in service from
the care of disabled children to

their education and personal
development

for

(3) Inclusive education is a continuous
process, not an achieved state or
product

(4) It seeks to maximize the potential of
all students

Which one of the following is n
related to Flander’s interaction angl
system? ‘
(1) Student talk
(2) Guardian talk

(3) Teacher talk
(4) Silence

15.

16.

» (1) Understanding
(2) Reflective

(3) Memory

(4) Descriptive

The main operation in interactive stage
of teaching is

(1) diagnosis

(2) perception

(3) action and reaction

(4) All of the above

A child starts fearing after seeing a black

cow, black dog and black objects. This
type of conditioning includes

(1) response conditioning
(2) stimulus generalization
(3) response generalization
(4) None of the above

['P.T.O.




17. T 5 5 =25 =00 553 5= 8 3 @ | 17. Out of the following which should not be

== = TEL 5 SaEea TE 27 kept in mind while selecting a teaching
- g s method?
_oF i # W (1) Individual distinction

(3) Tl w1 A (2) Parental background

(3) Mental level of the students

(4) Specific nature of subject

18. =1 § § FR-wl "reareey 1 v e T

r 27 18. Which of the following is not a
| ; £ characteristic of childhood?
ert) ﬂ (1) Extreme gregariousness

ot2) 1 = (2) Lack of curiosity

v aquqF;ﬁ il (3) Stability in growth
L R aell # weTen (4) Participation 1.” Qnd games

19. fm1 # @ wm-w gomewE whEn @ gt

» 19. Which one of the follgswing is not related
TE 8 to creative pra % P
(1) 35w (2) o (1) Incub@ (2) Motivation
(3) “'““h" A4 wE (3) Prepaggtion  (4) Ilumination

is the first step of

Moral development .
ntal :
g liswan form | of i‘avioural

)
(1) withdrawal

(2) continuation

(3) modification

(4) extension

22. A Skinner box is used for
(1) verbal learning

(2) operant conditioning

=N e & forg (3) motor learning
(4) "o st % fog (4) incidental learning
23. gfeumA i wife S2f whem 3 & 23. Bhatia battery test of intelligence has
(1) 5 39-wlem (1) 5 sub-tests
L@/é 39-Ttegon (2) 8 sub-tests
(3), 4 3u-whEm (3) 4 sub-tests
(4) 7 39-udigm (4) 7 sub-tests
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24. Who was the founder of Kindergarten

method?
(1) Froebel (2) Montessori
(3) Cook (4) Dalton

25. Propounder of collective counselling is
(1) Thorn
(2) Rogers
(3) Williamson
(4) None of them

26. To modify undesirable behaviour of the
student, the most effective method is
(1) to punish the students @ O

(2) to avoid it \

(3) to inform it to the pare g

(4) to find out the s of
undesirable behaviou suggest
remedies &

27. Dyslexia is reldteg

'!'I.:ACHE:RS

visually-impaired students

orthopedic impaired students

(3) hearing-impaired students

(4) physically handicapped students
29. CWSN stands for

(1) Children with Strong Needs

(2) Children with Single Need

(3) Children with Special Needs

(4) Creature with Soft Need

30. Which of the following is not an element
of counselling?

(1) Interview
(2) Confidence
(3) Professional growth

(4) Communication

[ P.T.O.
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qm—III / PART—III
wraT-11I : 370 / Language-II : ENGLISH

61. What will be the feminine gender of 68. Which of the following words doesn't

‘wizard’ ? have a silent letter in the pronunciation?
(1) Witch (2) Lizard (1) Knock 2y Oiange
"(38) Fairy (4) Ghost
62. The masculine gender of ‘vixen’ is (3) Honest (4) Debt
(1) ox (2) fox
() Bioxse fir e 69. Which part of speech is the word ‘who’ in
63. Which of the following sentences has the the following sentence?
correct punctuation marks? “God helps those who help themsﬂve
(1) The minister said “elections will be :
held in MP, Bihar and Orissa”. (1) Adjective (2) Adverb \
(2) The minister said, “Elections will be &
held in MP, Bihar and Orissa.” (3) Noun (4) Pro
(3) The minister said, elections will be
held in M. P., Bihar and Orissa. 70

. Which part of speech 1s“1e word ‘so’ in
the following 2Ce

EACHERS

(4) The Minister said “Elestions will be
held in MP, Bihar And Ok

64. Which among the f
not suitable for the K

(1) able
(8) ive
65. Identify the p
sentence : e £ il
“Thieves broke into the bank in the J. ", : 3
; J ) A modal verb’?
middle of the night.” \p
(1) broke into ﬁ b (1) He 1s flying a kite.
) i 0
Einte Rire o, (2) His father knows me well.
(3) Thieves broke = ér:’ ;
(4) middle of the night, :‘fﬁj (3} Ram is an intelligent boy.
66. Complete the following™ Sk '“énce with {4) Her mother ought to know what she
the most suitable ggtion : is doing in Mumbai.

“I didn’t kno ’ the party.”
(1) anybod\v‘a:.‘ W) somebody 72. Which c_.-f the following sentences has a
B).. fabiody g 4] apmeoie possessive pronoun?
67. Which of the following is not a (3)= Ramesh who sisimy grandson;: is
homophonic pair? reading a poem.
(1) Kite-Kit (2) Her sister is known to me.
(). Sarg-Sta8 (3) He could not help me
(3) Principal-Principle :
(4) Steel-Steal (4) Ours is a vast country.

Paper-2/D 9 PO,




73. Which of the following sentences has a

74.

75.

78.

76.

77.

collective noun?

(1) He has a lot of milk.
(2)
(3)
(4)

Raka is a fool.
Cattle are grazing in the field.

The air is cool here.

Identify the sentence in passive voice :
(1)
(2)
(3)
(4)

They live in this city.
He will be taken care of.
He teaches Chemistry.
Ram is flying a kite.

Identify the sentence in active voice :

(1) Their friends will be caught
redhanded.

(2) I know nothing about western
philosophy

(3)

Fre ncxf;ﬁwt taught in my college
(4) '

(4) How beautiful is thq\n‘i'oayng today!

Which of the followmg won;ds has a silent
letter in it?

(1) Fawn r(]2} Cure
(3) Calmil ™ (4) But
%
W} f the following sentences has a

1y mother tells us that her uncle
was a salesman.

(2) He said to me, “Do not cross the
limit.”

(3) He has told me that his father was a
police officer.

(4) Shyam said to me that he was not

at ease yesterday.

Paper-2/D
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79.

81.

82.

83.

Which of the following sentences has the
antonym of ‘narrow’ ?

(1) He is a good boy.

(2) She is utterly selfish.
(3) I admire his broad outlook.
(4) I know him well enough.

According to the NCF 2005, learning is
and in its character.

active, social
passive, sociall 0
passive, simple~

. . .
active, s

What doe&ivation do in the process

(1)
(2)
3)
(4)

( t sharpens memory, of the learner.

1) E@J are reaﬂy W kind. >
(2) % s awmuma
(3} Fﬁ'%nno r

( greates'Winterest for learning
ongyoung learners.

Fill in the blanks with appropriate
prepositions :

Ashoka is worthy remembrance.
(1) with (2) at

(3) for (4) of

What is the subject of the following

sentence?

No man can serve two masters.
(1)
(2)
(3)
(4)

No man can
Can serve two masters
Two masters

No man




Directions : Read the given passage carefully
and answer the questions (Question Nos.
84 and 85) that follow by selecting the most
appropriate option.

Among these adventures, in the year 1887,
was a youth called Jacob who was then
twenty-one years old. Although so young he
had already lived a risky and dangerous life.
He had been a seaman and crossed the
Pacific, and been a pirate and a river
patrol-man, a coal shoveller at a power plant,
a landless man and a ‘hobo’. He had tramped
the United States and Canada, switch rides on
freight trains, and dodging and fighting
railway men and police and knew all about
cold and hunger, and poverty and danger, and
he had served a prison-sentence of thirty
days.

Though he did little else, he had a great love
for books and words, and though he had
found no gold in the Klondike, these things
were soon to earn him a fortumes He came
back from Alaska after a yeaz !
scurvy and without a penn 5
had, however, a great
and he began to write st
had seen and the peop
months of hard work
success. Magazines

Alaskan stories. Soon
next sixteen years he p
and made and spent a million dollars. He di
in 1916.

fﬂ“‘
&
84, In the given passage, .

ou
understand by the word&

(1) A hero

Someorne
or a house =
place to other

(2)

== not have a job
1d moves from one

(3) Someone who is brave

(4)

Someone who fights with everyone

(N

and does not sit guistly ever

Paper-2/D
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85. ‘Scurvy’ means
(1) a disease resulting from a lack of
vitamin C
(2) an injury caused to the body from
freezing cold
(3) a sea-sickness
(4) a feeling of nausea
86. Identify the wrong collective noun?
(1) Army
(2) Sheeps
(3) Scissors
(4) Daughters-in-law @
87. Identify the correct sentence among
following : -
(1) Please look at my ce
(2) Please overlook at tificates

(3)

)

89, Which conjunction will be the most
appropriate to join the following
sentences?

He lost the prize. He tried his best.
(2)
(4)

because

(1)
(3)

as

though for

90. Which part of the following sentence is

predicate?

On Saturday morning my friends and I
play football in the park.
(1)

On Saturday morning

(2) Play football in the park
(3) My friends and 1
(4) On Saturday morning...1 play

football in the park.

[ P.T.O.




9m—III / PART—III

9TI-11 : ©&Fa / Language-II : SANSKRIT

61. ‘A’ =1 e @
e RE

' (2) foafe
(3) s
(4) S

62. F1-T1 W= i F1 qatga TE 27

64. ‘ALY’ A FE Fdl 8

1) £9

(2) F=m Q}
R

(4) G¥EH

65. G 9#F B
(1) & 79 vead |
(2) o TY: T |
i3 = 7 wefa
(4) d 7e9: vafd

Paper-2/D

66. ‘Afea’ wee %1 forw 2
Ay Hiferw
(2) AGEHICH

15

[ PT.O.




71, ‘gd e =g, weeeE, i R 76. ‘TwgH: % G- faue

| (1) wai (1) T
2) HIHR

(2) T I

(4) waid Rl B

/m’ &+ P

72, ‘wgafa’ w9 g uig # R
(1) <

74, ‘Wl § Fa-d wty 7
) afE
(2) I b@
@) o !

(4 1Y

#

75. 'ﬁﬁ‘*r-v.' H -9 999 87
: (1) F@

(1) FHURE Jﬁ

I

(3) wesife
(4) I

Paper-2/D 16




80. 7 THM:’ 1 A=A B
(1) st g

A s T
(3) =% Bfoam
4) =T

81. "8 wA F IR AT
(1) fawmarf wenf
2 Sl v
(3) fawmfr wenfy
(4) fawrdif wenrfy

82. ‘100 &9 1 AR B
~@7 ¥ e
| (2) T ge:
. (3) wIGEI: GEE:
A4 AadaH: g

83. faum:’ we & 3ug
| (1) femg
: | (2) Ty
ey fa
(4) fam

A 0 T TS o &
(1) frag QJ
. (2) faam &
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TfUTd Uel e / MATHEMATICS AND SCIENCE

91. feu mu fam # AB=AC 3N ZACD=105° 2,
a9 ZBAC 9T ©

A
[ \s108¢
B ¢ D
W 60° (2) 105°
(3) 30° ,(4) 75°

92. If% (B~ A) #1 30% = (A+ B) #1 18% =,
I A: BR
(1) 4:1 _¥ B5:8
(3) 1:4 (4) 5:2

93. 4l §& 3:4 F I A §| ITF HoHo qUn
AoHo F AR 2028 B | W& F ATHA
arm
4y ™= (2) 86

ERle (4) 91

g) 42

5
BT ga-anuiia fafy
(4) Wi fafy
96. UF I F 20%m'qtﬁa1ﬂmluﬁma¥g
1 %4 e €50 FHSTOST fogra e oft 3
mfsoa@mﬁmsl%wﬁm%

3’1}1 A_?m
ol -42)/?852

. 4
-

fai' ‘ (4) ¥853
97. (x R\ 9) 1 = 7
2 (¥
) 4 (2) 0
- 49
98. (272)2 - (128)2 1 T T M)
fl) g8 @) 240
(3) 256 4y 144 ’Jﬂ%
Paper-2/D LXr

(oY 199
e

91. In the given figure AB=AC and
f_’ACDzIOS",Athen £BAC is equal to

[ \10s°

B (5 D
(1) e0° 2) s
(3) 30° 4 7%
92. If 30% of (B— A) = 18% of (A+ B), then the
ratio A: B will be
e 3

(1) 4:1 ‘~
(3) 1:4 w 5:2
93. Two numbers Q’\ the ratio 3:4. The

product of F and LCM is 2028.
The sum o numbers will be

PY (2) 86
4) 91

) the: % is equal to
2) 42

hich of the follomng is the best
to_teach geometry?

mc@ "71

L
(3) Formula based method
(4) Display method

96. An article is sold at 20% profit. If its cost
price is increased by ¥50 and at the
same time if its selling price is also
increased by ¥30, the percentage of
profit decreases by 31%, then the cost

price is
(1) ®851 (2) ¥852
(3) ¥850 (4) ¥853
97. The minimum value of (x-2)(x-9) is
49
1) — 2) 0
i = (2)
11 49
3) — 4) -—
@ i) =
98. Find the square root of (272)2—{128)2.
(1) 200 (2) 240
(3) 256 (4) 144
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99. awl #i 4 F Mehw smER =
o s it Frefofan o & &
o s w=an 27

98 A1
(2) I~ gftegza
(3) v
(4) <
100. Fefifas § & F- fmres fm 37
(1) +Tgge
A2] FEA SRS
(3) #riH
(4) TdTsE
101. Fi=fafaa 3 § Fm-d urg wfe =4 27
@ " (2) fom
(3) wHIIEE IS
102, f=fafiag uqsi & § #-m 23 37
(1) =R (2) &
A3 =i (4) wEERE
103. e A 3 et aw, emm 6 am 67
(1) 3Feal AREH
(2) i Sewfem
(3) T =gz
M R
104. 5 w10 § ©H-Sw
(1) favsr=ard qrg
(2) Meduffam £
(3) 3 Fui
A ST
105, ‘5’ ®
(1) s of 1 wmor= 7
R wHH F1 s fes

[E FE F
lEz:eal oo

(3) NaCl %1 Hgw faers &/
(4) NaS04 F1 elim J

106. ® Fel 1 Fig €1 3 = R
(1) 399 ) FIRRISH
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99, Which of the following properties of
water can be used to explain the
spherical shape of rain droplets?

(1) Sa -

(2) Critical phenomenon ¢
(3) Viscosity *

(4) Pressure ¥

100. Which of the following is a greenhouse

gas?
(1) Nitrogen
421" Carbon dioxide
(3) Argon
(4) Oxvgen

101. Which of the following metals is n
mineral? @
(1) Bauxite 2) Gypsun~

(3) Hematite (4) Limonit
Which one of the following
liquid?

(1) lodine
(3) Bromine
. Which SCig
radioctjve €18

EAC

102. etals is

osphorous

discovered the

(2)
(4)

v adium?

HEF

Il

he

A A%.f" (4) Bacterial activity
N 5. ‘Brine’ is

GO

C )l

(1) common name of bleaching powder
(2) aqueous solution of chlorine
(3) saturated solution of NaCl ?
(4) aqueous solution of Na 5S04

106. The gas used in artificial ripening of
green fruits is

(1) ethane (2) hydrogen
(3) acetylene (4) nitrogen
107. The percentage of nitrogen gas in the air
is '
(1) 78 (2) 215
(3) 40 (4)° 3

108. Ozone is
(1) an allotrope of oxygen,
(2) an isomer of oxygen
(3) a compound of,oxygen
. (4) an isotope of oxygen

B [ P.T.O.




109, m FFFF % TH 0 W p ¥1 FEA

Fet Bt
(1) p°m 2y p%/m
S (3) mp @) p?/2m

110. 4, 10 3iX 20 W % Wfaddl % TR THE
T 15 drez H &0} e o 2 ey
ura 2t (A = TFER)

(1) 6A 2] 4 A
3) 8 A 4 2A
111, Prefafaa el § ¥ #H-w T ARG
77
(1) T (2) THS
(3) M 4y TS

112. @i F =@ Al B
(1) s« d 42 Fefa #

(3) dgH (4) &9 H
113.mm¥aaﬁ@wgﬁmﬂv@%,aaw
9 3e9d B 27

@ 30° g™
% k4
115. fieffas § @ AA-grosdAy B A
A 7 b

o) i o

@) 45

e SR (@) F

116, Td 3 HAT R 9 F A A P Do
T 1 S 87

(2) FFEEH
> @)

117. @ AL SO 8 @
(1) 1077 & (2) 1078 ¥
@) 100 4] 1077 ot

118. 38 @ FreR X-front 1 snfemehm e ?
(1) TeesA (2) HEEaw
43)/1zmﬁé (4) i

Paper-2/D

109. Momentum of a particle of mass m is p.
Its kinetic energy will be

(1) p°m 2 p%/m
(3) mp (4) p?%/2m

110. A battery of 15 volt is connected to a
parallel group of resistances of 4, 10 and
20 ohm. The current in the circuit will
be (A = ampere)

(1) 6 A (2) 4A
(3) 8A 4 2A

111. Which one of the following materials is
ferromagnetic?

(1) Nickel (2) od
(3) Gold .&’ ganese
112. The speed of sound i aximum in

(1) water o ) ‘vacuum

(3) air (4) steel

113. When a rod is rubbed with silk,
the hig type of charge is created on

On 0 y . ._- ._ ‘. N

@

On a moving plane mirror, incident ray

fl a le o en what will be
fl ?
0° | B (2| 90°

#3) 30 (4) 120°

115. Which one of the following is a
renewable resource of energy?
(1) Petroleum (2) Ground water
(3) Natural gas (4) Coal

116. Which physical unit is obtained by the
ratio of momentum and velocity of

matter?

(1) Acceleration (2) Mass

(3) Velocity (4) Force
117. One nanometer is equal to

(1) 1077 cm 2) 10°° em

3) 10°% em @) 1072 cm
118. Who discovered X-rays?

(1) Roentgen (2) Maxwell
(3) Rutherford (4) Torricelli

20




119, P 4 91 1 S Yo i 47

(1) foe= —12) U
(3) hred (4)
120. 3TTh ®9=RY &
AT S H (2) it &
(3) @ (4) w& H
121. Idfa% %l Ie9m B9 3
(1) era | (2) g &
A3 3EmE A (4) =R 9/
122. T WY, St o A sen drem ¥ mem
US Hal B, B
(1) ufEn 2 A
(3) (4) dgfrn

123. i & DEA-dvem ¥ for #fad o &

(1) R

119,

120.

121.

122.

123.

Which one of the following is not a

natural fibre?

(1) Silk (2) Acrylic
(3) Cotton (4) Jute
Ginger is the modification of
(1) root (2) leaf
(3) stem (4) fruit
True fruits develop from

(1) thalamus (2) petal
(3) ovary (4) sepal

Plant which reproduces by n,@

spores instead of seeds is
(2)

Q°
4) a

The element, essentjalcaynthesis of
protein in plants, g, @

(1) coriander
(3) mustard

sion (2) A
4)

rthritj
a a.\ i E:-
ed rcumﬂ

8" (2) algae
3y Sfram | '.t?_;__._l,_.,f (3) bacteria
(4) Ha-sia dara | : '3 z‘f (4) blue-green algae
125.ﬁqﬁyﬁgﬁﬁﬂq§q_mm‘f W‘%}? 126. Which one of the following is not a
- source of energy?
(1) e o % (1) Protein (2) Fat
N3 faeifi FHETESE (3) 'Vitamin (4) Carbohydrate
13T 0N % %Ik ﬁlﬁ Py T 127. The coding segment of DNA is called
(1) =i vi(2) WM (1) muton (2) intron
(3) HreH A8y THE (3) codon (4) exon
128. Ffiifad 4 4 #-1 w g Sow-aw v 128. Which of the following is not a
' micronutrient?
(1) wuifeay (2) #®W (1) Sodium (2) Copper
—3y” Tafeia 4) *am (3) Silicon (4) Calcium
Paper-2/D 21 [ PT.O.




a
—
3
120, 7% TF T F TEE 4 A A w e
e U R
waem i gfg A7 _
rT300% (2) 300%
(3) 150% () 600%
130, 7R 8=b_Cq, @ arbr2e 4
3 2 } W b
(1) 3-8 2) 4
8 A —A 5

131, K 1 99 e e s for e
x—Ky=2, 3x+2y=-5% Al & 2

5 2
1) K#—= 2) K==
(1) ¥ (2) 3

2 2
3) K#= K=—=
X e TS

1 e fo § g0 e
(1) 1%&: @) 4€?a
Ry s f= (4) 22 B

133. T vhan # UH Heg §30 BHE F FR AW
3t 1 Hied 585 A1l 9 #, ¥@ T g 1
yfam TH B W HE 75 % WH W 57
ferd €1 T UF WE He i |

s W 2)
fiy?20- (@)

59:1
289

134, 7R fogatl (3.5), (6 y) W (-34) F F5
(x y &, W x T y FTH T6 T

rxe2 y=2 @ x=5.u=3
2 2
8) x=2, y=3 4) x=3, y=2
Paper-2/D
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c. o> &
bes A Rk 94 % FE
- 5 3 !
2
129. If each edge of a cube is doubled, then
the percentage increase in its total
surface area is
(1) 200% (2) 300%
(3) 150% (4) 600%
130, if 2=L.a€, then 21212 54
B Tl b
(1) 38 2) 4
(3], +3:5 (4) S
131. Find the value of K forsghich equation
x-Ky=2, 3x+2uS Bas unique
solution. v
) vl 2
1) Kz— /8 Ko
m ke €Y ®) k-3
@ k2% @ k-2
a0 #
e ).
2 il do.a work.in. 6. days. B takes

21 ¥s 0l cop g B itiCitakes as long as
‘e i =8 wolld, 'ake working together.
wf How long will it take B and C to
complete the work together?

(- days 2 4 days

( days (4) 2% days

133. In an examination, the mean of marks
scored by a class of 30 students was
calculated as 58:5. Later on, it was
detected that the marks of one student
was wrongly copied as 57 instead of 75.
Find the correct mean.

(B 519 (2) 591
(3) 209 (4) 289
134. If centroid of the points (3, 5), (6 y) and
(-3, 4) is (x, y), then find the values of x
and y.
9 9
1 =2, Yy=— 2 =—, y=3
(1) x=2 y=7 (2} x=2, Y
(3) x=2, y=3 (4) x=3, y=2

=T




, A 3PS 4 WW | a b # WA

T #hife |

(1) a=2, b=0 (2) a=1, b=1
_/[3)’ a=0, b=2 (4) a=7, b=5

136. TF HagH fobg el v wem 2 &
L L
(2) T WiEHloE wEm

—3)” % Uiy gen
(4) UF Fufag e
137.ﬁqwﬁaﬁ,msqaﬁéﬁ R PT
It #) 4R pr=s adi 3R PA=3 8 A,
Al AB ) "9 31a Hifem
T
B
P A

(1) 88° (2) 38° ‘{}
{3) 249 320 ‘ % ‘;}-.
n ‘-'P“
139. 7R a™ = (@™)" R, @ mF TE 2 P Nt
- n_ o &
./U'}_ n-1 (2) n% 2 :Ll.;;._."f
(3) n-1 n(n-
1= 3G N e :
e [1 )[1 GJ( T, 1(J0Jmm%
1 w 1
3 P
(1) e 2 -
1
3) 0 e
(3) 4) 100
141. 3 0<x< 19, M TR g 2 f5
\_LH/xIOO:-xIOl (2) x100>1
(3) x100<x101 (4) x101>1
Paper-2/D 23
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135. The polynomial axS +px?2 +x=6 has
(x+2) as a factor and leaves remainder 4
when divided by (x —2). Find the value of

a and b,

(1) a=2, b=0 (2) a=1, b=1

(38) a=0, b=2 (4) a=7, b=5
136. A non- terminating but recurring decimal

is

(1) an integer
(2) a natural number
(3) a rational number _
(4) an irrational number
137. In the following figure, PAB is a sec
and PT is a tangent to the ci

PT=5 cm and PA=3 cm, then fi
measurement of AB,

AC and BD of a

(4) 32°
139. j¢ " =(@™)", then the value of m is
1
1) — 2 i
(1) e (2) n
gk 2
(3) n-1 4) nD

140. The value of

(336 )

is
1 1
(1) 28 (2) 0
1
3) 0 (4) o0

141. If O<x<], then it is true that

(1) x100>x101

3) x100<x101

(2) x'0054

4) x1915,

[ PT.O.




142. T T H 8% AT = N W H WU
W,ﬂ@‘r—i?ﬂ%ﬁ"ﬂ?

(1) 7 94 2) 5@
(3) 8= 4 6o
143. 98 BA-8-3 wem, fEd 33275 F TN
mmmgwma@qyfma ®
A7 3 2) S5
(3) 2 4) 6
144. 7 (p2 -8p+12) @ (p? +4 p-12) Fl HeTH
RIS (p - a) B, T a F1 A &M
i) =g (2) 2
(3) 2 4) 6
145, TR x> —6x2 + 11x -6 F UGS #
1) (x+1)(x+2)(x-3)
c(2) (x-Y(x+2)(x-3)

3) (x-D(x-2)(x-3)
@) (x-D(x-2)(x+3)

' p+q
146, T, Whaﬁ{ . im

147@1:@%111‘}&41?1 16 ﬁqﬁ?ﬂ%;,
m00223334,\5555

6, 6, 7, 8 %, a‘gﬂ%ﬁé‘w
AT S A2) 6"
(3 3 ¥ 7
148. 3R 3%**1 4 ﬁ 3“”’3 32 @1, @ x %
e 3
(1) > @y 12
@@ —@) 2,-1
149, 7R 3 ¥ 1 53 Foram 8 wiEwa 2
> 2 2
7 7
1
A3 5 .ﬁ%

150, a2 fdl 39 ¥ ¥z @ 12 Tl H g0 w fEa
e ) e 10 3 ), A 99 F =@ EW
(1) 26 &t 2) 14 ¥
(3) 13 &

A 30 &
;c?,-uQ =G
Ao — 6
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90

]
‘J‘ﬂ il

142. In what time will the simple interest be

% of the principal at 8% per annum?

(1) 7 years (2) S years
(3) 8 years (4) 6 years
143. The smallest number, which multiply to
33275 to get a perfect cube, is
(1) 3 2) .5
(3) 2 4) 6

144. If HCF of{p -8p+12) and {p +4p-12)
is (p-a), then the value of ais

{2): -6 2) +2
3) -2 (4) 6
145. The factors

—6x2 +11x—-6 ar

Oclynomia]
(1} (x+1)(x+2)(x-3) \
(2) (x=D(x+2)( ®
@) (x-1x- Q
4) (x-Dix$I )

P—q

146. The equa tio' whose roots are and
p+q
N & - Wikl OC
3 f ) q]Q - O
. &‘:g ] ds

) (p? —qg}x?‘ +4 pgx ~ p2 +q%=0

a»ii

147. The marks of 16 students in math in
monthly test are 0, 0, 2, 2, 3, 3,3,4,5,
5,5, 5,6, 6,7, 8, thenmode\mllbe

(1) S (2) 6
3) 3 3
148, |f 32¢t1_3X¥=-3**3_32  then the
values of x are
(1) 1,2 @ -1,-2
(3) 10,0 4) 2, =1
149. In a leap year, the probability of getting

53 Sundays is
(1)

(3)

(2)

N =
S A lw

(4)

150. If distance between centre to chord is

12 c¢m and length of chord is 10 cm,
then the diameter of circle is

(1) 26 cm (2) 14 cm
(3) 13 cm (4) 30 cm

15
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94.

95.

96.
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98.

99,

100.
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(1) 28 (2) 24

(3) 18 4) 22
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(1) FHETE (2) WSEIES

(3) wHfaaT (4) 48

gmisE weEa % faig
TEEF QYA $H-91 &7
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(3) =R
(4) aAE-faamE
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AT |
(1) =3HwE
(2)
) o
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qau™ g9 % T 3wy 9
(1) SEEEE e ;
(2) efo TSZ FHER "o 2
(3) Tfo wiagH= @ 4o WL/
(4) o Fo THo B

HId 1 g&g =i
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(3) Hie FHo o Fo
(4) 39 A | I3 T

91.

92.

93.

94,

95.
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98.

99.
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(1) Socialisyy

‘Pakal Dul’ hydroelectric power project is
situated in

{1} Uttarakhand

(2) Jammu-Kashmir

(3) Jharkhand

(4) Karnataka

Which one among the following is not
a plantation crop?

(1) Wheat (2) Tea

(3) Coffee (4) Rubber
Headquarters of NATO is situated at
(1) New York (2)

(3) Brussels

London

(4) Paris @ Q
How many languages have*
mentioned in the Eighth Schedulé” of
the Indian Constitution?

(1) 28 (2) 40
(3) 18 (4)
Which one of the follo not a part

of the Preamble of lnd iagy Constitution?
2) Democratic

arisy . :CL

il
(2) History
(3) Political Science
(4) Geography
Who was the permanent President of
Constituent Assembly?
(1) Jawaharlal Nehru
(2) Dr. Rajendra Prasad
(3) Dr. Sachhidanand Sinha
(4) Dr. K. M. Munshi
In the absence of the President who has
to perform Presidential functions?
(1) Vice-President
(2) Governor
(3) Prime Minister
(4) Chief Justice of India
India is the member of which of the
following nuclear treaties?
(I) NPT
(2) s PTBT
(3) CTBT
(4) None of the above

[ P.T.O.




101. w1 € # %l wifa T ¥y WRdE A
‘g T gew THen 87
(1) 3f&m gEH
(2) ®r
(3) W
(4) I9EF ° ° HIE T
102. Fefifad # & #H-wW GIF TG G OH
iy 7E 87
(1) @ 3R FN gred
(2) @I g Db, dfE o wephE
H1aA

(3) fava wmen gmad

(4) HFGUEE AT
103. F9-41 W ‘fram @R ¥ TW @ W

Sl 27

(1) Ffeumm spifam TEg

(2) HIfER Hehe

(3) e Agee

(4) IR FHe 5L
104, U At e H o i Fe wE e

(1) 10000 & (2) 100000 TX

(3) 1000 @it W (4) 1000000 wiet
105. Fal : jr—

(1) g
(3) Ly T g

(3) ! 1“#,» :
(4) 3fen AN

107. @d # & @R drwell wH -%r{a?taqg?ﬁ
e FH-H 87 'fﬁ-;f '

(2) B

(3)

(4) .
108, T g 1 A 1 Higal W 1Al

(A P 0 ) foraeiet 3@

(3}, W= T (4) TR Em

109, e W i A w1 vqE wH @
(1) %l % T8 ) 6% HA
(2) el % T 1 g S
(3) el % W I Hig TET
(4) el % W B T FE

110. Z812 &1 @l 71 9 TS % R e 8t
(1) HEAES (2) iR
(3) TETRTRE (4) wTERITE
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101. Indian soldiers have been awarded
“UN Medal’ recently for their peace-
keeping works in
(1) South Sudan
(2) Congo
(3) Somalia
(4) None of the above

102. Which is not an agency of the UNO?
(1) Food and Agricultural Organization
(2) United Nations Educational,

Scientific and Cultural Organization
(3) World Health Organization
(4) International Court of Justice

103. Which fertilizer is known as ‘Kisan
Khad™?
(1) Calcium ammo itrate

(2) Ammonium sulph
(3) Calcium nitrage
(4) Ammoniuniys
104. The quanti
centimeter ¥
DOMitre (2) 100000 litre
00 itre (4) 1000000 litre

leaf
i by suckers

106. Which fertilizer is highly hygroscopic?
) _Calcium ammonium nitrate
)W Ritrate
| ‘
107. Which is the suitable stage of green
manure crop for incorporation in field?
(1) Pre-flowering stage
(2) Post-flowering stage
(3) Initial stage
(4) Maturity stage
108. In fruit juice sugar concentration is
measured by
(1) potometer (2) refractometer
(3) chinometer (4) tendrometer

109. The main role of pectin in jelly making is
(1) staining of fruit juice
(2) coagulation of fruit juice
(3) sweetening of fruit juice
(4) colouring of fruit juice

110. Which pigment is responsible for red
colour of tomato?
(1) Cyanide (2) Xanthophyll
(3) Anthocyanin (4) Lycopene
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111. e 1 Fe T HiE &
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(3) T I (4) T faemaw

(1) vmHer a1 ge’d
(2) efEw g 9w 4
(3) Wty ¥R 4
(4) Efe TR 4
118. 950aE | faen 8™
(1) utifeaa 4 ;
() ¥ D G
(3) HTHTEHTH Rge) .
(4) 30 A &

119, w%mmamwﬁﬁﬁmﬁnﬁgﬂ

ﬁﬁﬂ??ﬁ%? ‘.‘."J} *1
(1) S&TerT b, W A
(2) g 74 3
(3) %W‘ﬁ 1‘/' P _'r.;:-,,_:
(4) il
120. BrFer 99 § 5y frfr 3 E %
(1) 3ueh famars iy
(2) el fawad f
(3) @Iﬁﬁm%“ A
(4)
131, aﬁaﬁ%@aﬁaﬂ mm%
(1) aTegTaEs (2) TererEEen
(3) SrvrETaEYT (4) egrEEr
122. 5@ F1 HR B
(1)
(2) "9 % Brarwam
(3) el wHEm

(4) I ai
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111. Lemon fruit is a rich source of
(1) malic acid (2) citric acid
(3) tartaric acid (4) acetic acid
112. Where is the Central AGMARK
Laboratory situated?
(1) Pune (2) Bengaluru
(3) Nagpur (4) Lucknow
113. Which are the constant (ACHAL) swar?
(1) SA-MA (2) SA-GA
(3) SA-PA (4) SA-DHA
114. What is the Thaat of Raag Yaman?
(1) Kalyan (2) Bhairavi
(3) Bilaval (4) Khamaj
115. In music continuous flow of equalv
is called ®
(1) Taal (2) Sam \
(3) Laya (4) Chhanrb
116. 1y fifigfiuy, o7, is swar
group is known as
(1) Raag Kalyan (2&&13 Vihag

(44 Raag Bilaval

(3) Raag Yama

 (4) None of the above
7;119 Water is used as a medium of cooking

in which of the following methods?
(1) Boiling
(2) Stewing

(3) Simmering
(4) Al of the above
120. Method involved in Dhokla preparation
is
(1) shallow frying
(2) deep-frying
(3) fermentation
(4) boiling
121. Two years to six years of age is called
(1) childhood (2) adolescence
(3) babyhood (4) adulthood
122. Reason of water pollution is
(1) pesticides
(2) human activity
(3) population growth
(4) All of the above
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123. TS T 1 1E R
(1) FaTs EEE
2) "EEs TEE
(3) wik= fTFm

124. ¥ 3 wrafy faard §

125. <l § Fa@ <911 41 I A 87
(1) faafim (2) =
(3) WM (4) @f=
LSD % ¥a4 ¥ g1 8
(1) Frsft = m

126.
(2) ¥Fa F M
et fawm

(3) FW (4)
127. M H @9 8
(1) @ &

128.

129.mﬁmﬁﬂﬂﬁuﬁmwm%mﬁm
momowomma;@

(1) Gefl-geas whan @ o

(2) qﬁm%wé@tﬂ‘aﬁr—ﬁwm
(3) witen Femeam O

(4) WW«*

130. mﬁ‘m ﬂwﬁﬂﬁmmm%

(4) 94
131.qftq’mmmnsﬁ'@i:m% Fiif

(1) ¥ fae + A T

(2) F0h diE, des 1 eyl ol @

3) ¥ faenfal ) TS S 2

(4) gﬁaguéﬁﬁ%%qmm%m
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123. Objective of physical education is
(1) psychological development
(2) mental development
(3) physical development
(4) All of the above

124. Which player is related to Badminton?
(1) Sania Mirza
(2) Dipa Karmakar
(3) P. V. Sindhu
(4) Duti Chand

125, Pulses are very rich in

(1) vitantin (2) fat

(3) protein (4) minerals
126. Effect of the consump LSD is

(1) kidney disease ( r disease

(3) cancer [3 hallucination
127. Benefit of cxcs
(1) increa Appetite

(2) gllene
sérca@ in blood circulation

lar amount in

; e - 1
relation to the who e
) Showing a pattern

owifig) features: @} the historical
mgi 2l
ial --Sme:ncﬁ. tl'g recent NCF

position paper on examination reform

emphasizes on

(1) open-book exams

(2) flexible sitting arrangement while
testing

(3) test performance

(4) continuous assessment

130. Aim of social study teaching is
(1) development of national integrity
and international understanding
(2) becoming a good citizen
(3) development of cultural heritage
(4) Al of the above

Project work is important, because

(1) it enables teachers to be creative

(2) learning by doing is more lasting
learning

(3) it enables students to be creative

(4) it creates some work for students

131.
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132. m wu H, gefee e | 182. I the  Indian pluralistic society,
‘ textbooks of Social Science should
(1) wgeer® H U9 #1 wehifa w6 Tk (1) reflect the majority opinion
(2) faamErTE ﬂqzﬁ Y 941 T1fey (2) avoid controversial issues
(3) WER % i #) wefifa = =iz (3) reflect the government’s views
(4) |t g 3 amifs T B e (4) include and represent all religions
T I Sfafftes w0 1w and social groups
133. Ya e ¥ hew 6 Brw 133. }Vhich incident from the life of Buddha
fam = g1 Egﬁ%? L is symbolized by wheel in Indian Art?
i (1) Mahabhinishkraman
o i 5 o
(3) iy (4)) N?:ax: l
(4) Fram 134. That Gautam Buddh
s au
134, 7 g8 F 5= A g3 91, T g Lumbini = is col;ﬁnna::d Wagy ')I‘e
fora® sfuera & B 27 inscription?
(1) Fgw (1) Samudragupta o
(2) Eﬁ (2) Harsh
@) WﬂﬁH@ % (4) Pulkeshin II ®
135. fafafaa - i faRTRS
Terrpen & fou ufag 27
(1) @
(3) uTEdt
136. ‘wefig g’ F wy
(1) Trsm THErEd _
(2) o St :
(3) 2awEY R _ ’
(4)  HTHRH fl'lg’:’l 'Y, W' (4) Atmaram Pandurang
Sl i . .
137. fra¥ Ta e § wd B e . i 7. In whpse viceroyalty was the capital
ﬁﬁa‘] il lf Ef? mﬁ‘ﬁn: of Ir?cha transferred from Calcutta to
1) @€ F i )
(1) J‘Z‘u. (1) Lord Curzon
(2) :g‘ﬁr%’n 11 @ 4 (2)  Lord Hardinge II
(3) g fifgn ' (3) Lord Reading
(4) S FHE (4) Lord Chelmsford
138. 74 ¥ f¥m A | T THHE T #1 | 138. Which of the following Mughal emperors
aqﬁgga; ® g ? sent Raja Ram Mohan Roy to London
(1) wmEeTem I}'*". as his messenger?
@ wmumi (1) Shahalam II
(3) 7 : (2) Bahadurshah 1
) T (3) Shahalam 1
(4) Akbar II
139. f&g fagan .
% . Trﬁaﬁ sifufas e 3 @ frg ad 139. The Hindu Widow Remarriage Act was
: | passed in which of the following years?
(1) 1856 (2) 1846 (1) 1856 (2) 1846
(3) 1816 (4) 1826 (3) 1816 (4) 1826
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140, $ 3Eq FFA H WG F T R F

IS = 91?

(1) SEFR (2) IemE gl

(3) FFHR (4) oioTsE
141.%%@@%@%%@1@% EZ

T o7

(1) @)

HFA
(3) @R (4) SITESTEL
143.ﬁ1=d%1ﬁ§aﬁﬁ?q?anmﬁ 2011 # SFOEI
¥ U g Affarad g 87
(1)
(2)
(3) IW
(4)
144, TER 8 W & |
(1) e
F)

146

2) AT o
(3) g 3R gEFdld NN
(4) YF T ‘.__:;\Q%
147. TGN ETER — '%!

(1) Wﬂ%’l’ﬂ?ﬂgﬂ
(3) =T i ] (4) f%amm
148, Prefafad i, o e & = fve w1 FaEm

+2] ST %?1‘)‘

149. Hml&T@ﬂﬁﬁ%@i ‘HOR ) B FEA 6

(1) Hagsl (2) Hm
(3) e (4) HHR
150. frfofige # 4 #FH-8 GER F A W€l
e 27
(1) e (2) HEW
(3) FamEd (4) 9R
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140. Who was the ruler of India at the time

of the establishment of East India
Company?

(1) Jahangir (2) Shershah suri
(3) Akbar (4) Aurangzeb

141. Sheikh Nizamuddin Aulia was a disciple
of whom of the following Sufi Saints?
(1) Baba Fariduddin Ganj-e-Shakar
(2) Kutubuddin Bakhtiyar Kaki
(3) Makdoom Yahya Maneri
(4) Abdul Qadir Gilani
142. Who among the following emperors was
famous as ‘Qalandar’?
(1) Humayun (2) Akbar
(3) Babar (4 ah Jahan
143. Which of the foll tes recorded

decrease in its P tion in 2011
Census? ®
(1) Bihar o
(2) Mani
(3) Utta esh
nd

(4)

{ bad is entuatcd on the Rwer
Godavari
) Krishna

memic rock
(3) igneous rock

) having no satellite are
ereury and Ve
(2) Mercury and Saturn
(3) Earth and Jupiter
(4) Venus and Mars
Lakshadweep Islands are located in the
(1) Pacific Ocean (2) Arabian Sea
(3) Bay of Bengal (4) Indian Ocean
148. Which among the following regions is
known as ‘orchard of world™?
(1) Equatorial region
(2) Savanna region
(3) Mediterranean region
(4) Tundra region
149. Which one among the following is called
‘Roof of the World’ ?
(1) Satpura (2) Pamir
(3) Aravali (4) Myanmar
150. Which of the following is the world’s
largest desert?
(1) Gobi (2)
(3) Kalahari (4)

147.

Sahara
Thar




#4371 / INSTRUCTIONS

e wme wo TH-UAG # wre ot ufafy Wt | wew g wdt SRV Y ATAUTHEE Ug o
PLEASE READ ALL THE INSTRUCTIONS CAREFULLY BEFORE MAKING ANY ENTRY ON
THE OMR ANSWER SHEET.

1 3= T=-wE @ A e 8, g@ ofa, 9 v sensff ofe| 22wl arem F )
This answer sheet consists of three copies, the Original Copy, the Board Copy and the Candidate’s
Copy. Do not separate or displace them.

2_-.'iz‘;arréfﬂﬁah-wﬁahwﬁsﬁnmﬁliﬁaméﬁﬁammmww%lﬁénﬁam
el 9fA w1 e | A T
Use Black/Blue Ballpoint Pen only. Use of Pencil/ Gel pen is strictly prohibited. Do not darken the
Board Copy and Candidate’s Copy separately.

3. 3o We AMo IW-TIF F) 7 WIS 7N *1g ot a7 o 7 @) Rt oft wr FT, TOAT 9EiE, e
af =1 T At @ SR e w0 W sl ®1 ewEm gE e

Do not fold or put any stray marks anywhere on the OMR answer sheet. Use of any other paper,
calculating machine, mobile, etc., is prohibited and will lead to disqualification.

4. 3TE Fo o WRo IN-UAF F Y A TR FHIGH & AN S| mwmweaﬂm
3o WHo 3o THI-TAHh ST TN S Iqeh = AEl S|

Your OMR answer sheet will be evaluated through electronic scanningbprocess. mplete or
incorrect entries will render your OMR answer sheet invalid and will not

e E.
5. gFE EEE faat gEarigds Hio WHo e IT-T3F H WA 81 3Hlo o u@m%wﬁ

@ R
Carefully fill in all the necessary particulars on the OMR answer sheet. C of OMR answer sheet
is not permitted.

6. T M Y I A UF A o W F FRN FA@ E, A A IF | A W SO | AT % EE
W{Mﬁ@%ﬁm“ﬁ”&qﬁﬂéfﬁwﬁﬁ?ﬁﬁﬁ .
If you darken more ra
darkening thé

o —
]

one circle in QU

< ol £ '

ite circle(s) in

Candi 2 to arlewer tions [NORMEC p sV iy 4
right answer of each question and deé ke the correct circle on the OMR answer sheet. Once darkened
changes are not permitted. Usé ‘ofiéraser, nail, blade, white fluid/ whitener, etc., to smudge, scratch,

damage in any manner on the OM answer sheet during examination is strictly prohibited.

8. gl Tfan WA € W Alo WHo FHKe m:qaa:aﬁ#nﬁrﬁmmﬁqﬁmmmﬁﬁ@ﬁqiﬂl
aeeff Wi e e a3 ¢ 4 ot sl S | sraefi wfa #1 @ =1 @ R
Candidates must hand oyer the OMR Answer Sheet without separating the three copies to the
mv’%%i]ator at the end ofexamination. I nvigilator will hand over the andidate’s Copy after separating
it. The candidate can tike away the Candidate’s Copy of OMR Answer Sheet with him/her.

9. freft oft TR ] HEN 7 F T A F 3o To e IT-TIF FE A A IEE FiE A R
Srarf | 5
In case ofany discrepancy in following the instructions, candidate’s OMR Answer Sheet will be

lid and will not be evaluated.

“;M:?T‘,‘ ﬁ%is;or Registration Number Roll Number Q'm § L.\:;t_%.:tﬂl !

‘ 11 TRl NEEAEQEERDD EEREMAEEEEE English @
Candidate must fill all the entries @@@@.@@@. @@@@@@@@@@ @ Urdu @
ascl_emoqstrated!Jelow.ForExnmplc .@@@@@@@.@ @@@@@@@@@@ ‘
Registration No. : 1554609910, Roll

i No.gl: 6528764434, Question Bo'oklc(‘:t ®®®®®®®®®® ®®.®®®©®®® Rt &
Series-B, Langtl.tage-ll : Urdu, @@@@@@@@@ @@@@@@@.@ . PART-IV
Part-1V : Social Studies/O. Subjects. @@%.@@@@ @@@@..@. Maths/
srepefi 1 wafifa e & Wﬂﬁf\gﬂf 6] | @@@@@% ©) @@@@@ Science
sifia | TarET ¥ fore, el T @@@.@@@ 5@%@@ © |socia
1554609910, SITHAIF : 6528764434, @@%@@@@@ 0]0]0] 10100lolo] Studies/
g @i, o ;| @O O®® .@@ Other
M-IV : G e | 3 | olelelelolel 1 lolol|felelelelolclololele] MOM KEiS

Paper-2/D 32 ccecs—o*




